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B &M =29 =20t ZMl A= Olol, ‘LItCH= 23 Q1AI0| 76.5%( ‘I 17.6%
+ ‘BIDE 58.9%) 2 IR =3. BtH, ‘ECI= 28 A2 23.5%( 01 0.7%
+ HIW&E 22.9%)2. 2016E 0+ O&DIXIZ 2& ClIAIQ] =2 ASH0| XIsE.
- ‘Elte 24 QA2 I3 ASEZ 5010t 0| ASE(28.6%) 0| 3008+
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=T QMBI E AE(42.8%)01 55(24.9%), ot=(18.6%) 0l Hioh =3
[E.2-1-4] & 22t ZHO0l HEH oAl
B A O oct st 20174 20164 &p
A04 1 e &0 0.7 0.4 0.3
(4%) 2 Hn=E &2 =Holt 229 19.3 3.6
3 HD=E L& BO|CH 58.9 65.6 - 6.7
4 S Lisect 17.6 14.7 2.9
RA04 5(1+2) | EO 23.5 19.7 38
(28 re.) | 6(3+4) | Li#Ch 76.5 80.3 -38
S as | 92 | e | UE | e | su | umo
2| e (2000) 0.7 22.9 58.9 17.6 23.5 76.5
Jb2 | 3009t015H | (554) 0.6 21.2 56.0 22.2 21.9 78.1
AS | 301~5000+2 | (918) 0.2 21.5 61.8 16.6 21.6 78.4
5012HA014 | (527) 1.6 27.0 56.9 145 28.6 714
A S Al OlAIE (127) 16 41.2 448 12.4 42 8 57.2
> = QlAlE (1094) 0.7 24 1 60.3 14.9 24.9 75.1
3t olal=E (779) 0.4 18.1 59.2 222 18.6 81.4
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| doin | moip | WK | (142 ] (344
& H (2000) 0.7 229 58.9 17.6 23.5 76.5
g4 (992) 0.4 24.7 56.3 19.6 25.1 74.9
GRS (1008) 1.0 21.0 62.4 15.6 22.0 78.0
o | 18~20H | (375 | 03 | 256 | 587 | 164 | 259 | 74
300k (247) | 11 | 227 | 569 | 198 | 288 | 762
40CH (406) 1.3 18.9 60.4 194 20.2 79.8
5001 (304) | 02 | 218 | 615 | 7.1 | 215 | 785
60AI Ol&f (478) 0.6 25.5 57.0 17.0 26.0 74.0
N= (392) 0.5 32.8 53.4 13.2 33.4 66.6
RIESVE=D) (597) 1.3 274 57.1 141 28.7 7.3
HE/NS/EE (210) 0.9 12.6 71.0 154 13.6 86.4
BE/me | (201 | 00 | 178 | 622 | 200 | 178 | 822
tH=/83= (201) 0.5 18.3 58.8 22.5 18.7 81.3
Ra/2eHEY (313) 0.3 14.9 57.1 277 15.2 84.8
JE/M= (86) 0.0 22.3 65.0 12.7 22.3 .7
ste SZ0lct (258) 0.0 23.0 574 19.7 23.0 77.0
e (685) 1.2 22.9 56.8 19.1 241 75.9
UiXHOl & (1057) 0.5 22.9 60.6 16.1 23.3 6.7
e | s/g/oig | (71) | 08 | 150 | 601 | 240 | 159 | 84
T (281) | 00 | 209 | 604 | 190 | 209 | 79
MAHNHI AR (460) 1.1 21.1 60.4 174 22.2 77.8
e/ H2/ARE | (495) 0.8 24.8 57.5 16.9 25.6 74.4
HEF= (393) 0.7 21.6 58.9 18.8 22.3 7
st (185) 0.6 271 60.1 12.3 2r.7 72.3
A /J1E (114) 0.0 28.9 53.0 18.1 28.9 A
0 (449) 0.2 24.9 58.7 16.2 25.1 74.9

1

1

1

Ol2/AtE (137) 0.5 19.8 67.6 2.2 20.3 79.7
10 (119) 1.5 23.7 58.5 6.3 25.2 74.8
29! (475) 0.7 21.0 56.4 21.8 21.7 78.3
3¢l (574) 0.6 22.2 60.2 17.0 22.8 7.2
4910|ct (832) 0.6 24.3 594 15.7 24.9 751
S =g} (358) 0.8 21.0 57.6 20.5 21.9 78.1
=1 (321) 0.9 30.8 55.3 13.0 31.7 68.3
= (142) 0.0 29.7 52.6 17.7 29.7 70.3
JIEt (7) 0.0 0.0 64.9 35.1 0.0 100.0
EMErS= (1172) 0.6 20.6 60.9 17.8 21.2 78.8
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e 2% se #= el 010 N
- HIg(%) | HIS(%) (%p)

A05 1 e o 1.8 0.8 1.0
(4%) 2 HRE £2 ®o|t 50.7 49.7 1.0

3 HIDE Lt ®O|Ct 43.3 45.8 -25

4 e Lisect 4.2 3.7 0.5

RA05 5(1+2) | &L 52.5 50.5 2.0
(28 re.) | 6(3+4) | Li#Ch 475 495 -20

d 4

2 = was | B2 | g2 | Ua' | me | ®0 | ued
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2| b (2000) 1.8 50.7 43.3 4.2 52.5 47.5

Jb2 | 3009t015H | (554) 16 427 49.0 6.8 44.3 55.7
AS | 301~5000t2 | (918) 1.9 48.9 46.1 3.1 50.8 49.2
5018H014 | (527) 1.8 62.3 325 35 64.1 35.9

M S A OIAIE (127) 3.1 73.5 21.7 1.7 76.7 23.3
> = 0lAlIE (1094) 1.9 56.8 39.1 2.3 58.7 41.3
5t olAl= (779) 1.3 38.5 52.8 7.4 39.8 60.2




2oz was | X3 T | e || e | A

| doin | moip | WK | (142 ] (344

& H (2000) 1.8 50.7 43.3 4.2 52.5 47.5

g g4 (992) 1.9 51.9 422 4.1 53.7 46.3
GRS (1008) 1.6 49.6 445 43 51.2 48.8

oy | 18~20M | (375 | 08 | 607 | 368 | 15 | 61.7 | 383
300k (847) | 12 | 549 | 404 | 35 | 561 | 439

40CH (406) 2.6 43.6 49.0 4.8 46.2 53.8

5001 (304) | 16 | 518 | 410 | 56 | 534 | 466

60AI Ol&f (478) 2.2 45.0 47.7 51 47.2 52.8

X< NE (392) 2.4 565 40.6 1.5 57.9 421
RIESVE=D) (597) 1.9 55.8 39.5 2.8 57.7 42.3
HE/NS/EE (210) 0.9 46.9 46.5 5.7 478 52.2
BE/mer | (201 | 07 | 329 | 643 | 21 | 336 | 664

tH=/83= (201) 1.1 51.8 39.4 7.7 52.9 471
Ra/2eHEY (313) 2.4 46.6 418 9.1 49.1 50.9
JE/M= (86) 1.3 57.5 40.2 1.1 58.7 41.3

ste SZ0lct (258) 1.6 39.4 53.3 57 41.0 59.0
e (685) 1.5 46.0 47.4 5.0 47.6 52.4

UiXHOl & (1057) 1.9 56.5 38.2 3.3 58.5 415

el | s/l | (71) | 24 | 416 | 499 | 61 | 440 | 56.0
T (281) | 05 | 445 | 499 | 52 | 450 | 550

MAHNHI AR (460) 2.1 473 46.7 3.8 494 50.6

e/ H2/ARE | (495) 2.3 59.6 355 2.6 61.9 38.1
HEF= (393) 2.1 455 47.0 55 47.6 524

st (185) 0.6 61.2 35.5 2.7 61.8 38.2

A /J1E (114) 14 48.2 43.4 7.0 49.6 50.4

=l ol (449) 0.7 59.2 38.4 1.7 59.9 40.1
e (1419) | 22 | 495 | 434 | 49 | 517 | 483

OI2/AtE (137) 1.2 35.2 58.2 54 36.4 63.6

=& 1el (119) 2.9 475 43.3 6.3 50.4 49.6
= 29! (475) 1.9 43.8 478 6.5 45.7 54.3
39! (574) 14 57.7 38.2 2.7 59.1 40.9

gol0l5h | (832) | 17 | 503 | 443 | 36 | 521 | 478

Su = (358) 2.6 456 45.0 6.8 48.2 51.8
o[Eh! (1) | 36 | s22 | @92 | 50 | 558 | 442

851 (142) | 09 | 555 | 988 | 48 | 564 | 436

JIEt (7) 0.0 9.0 74.5 16.5 9.0 91.0

SU8S (1172) 1.1 51.5 443 3.1 52.7 47.3




